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Merely based on the unfounded assumption and
dubious (suspicious) evidence, the statement
draws the conclusion that . To substantiate
(support) this conclusion, the arguer points out
the evidence that_ . In addition, heindicates
that . Furthermore, he cites the result of a
recent survey in support of this recommendation.



somewhat convmcmg, but further reflectlon
r'eveals that |t omits some substantial concerns



ATIRIRIFE S

Argument SEE X FEINEED T
Qo] B FkEx

*(ENENREE
Qa5 1IE X ER——IE X ESN =T EEF 705
EXEEEETEE (E&NEETE)
EXEETEAEE (LPNEETE)
Ml 545 R ER

HRERENENREA




e B1E N ER-1IE X ERR =M HEF 75 0A

o |FEANE (1-2-3)
o FRIWH(ER-IRE)
o 1IZNIRE (Z4EHE)




ILSNIE (Z3EHES)

%@A&E,;meﬁ

A




Fo i — 1B X GMAT Argument

o oMM {RAN “Critical Thinking” HIEE /]
N T EHEATHBRFRN—DES:

“10ZFHI, EHRENILR, B—TUFRZHOA, B T/ NEEZIME)E
B, EEIFIIELE, GRE, GMAT, SATHEHLERBEZFZW, FHIESFRm
3MCRE, 1‘&7([3’]1E1_7':31E’Jé§/ﬁ iﬂé‘*ﬂ%x%ﬂﬂ’]f?ﬂﬁﬁ, A

LEBA R BB R IR T, I HEZIFIIIFR, (R A
2 AEMNHRBURNEINRE, ”




ATIRIRIFE S

Argument S{EE X ZERINBEDHT
Q0] 5 H K Ex
KEMARAREE
gN{a] 5 1E X Ex——1F XERBI =Fh = 7505
IEXEeEAEE (A& ERETE)
EXEETETEZE (LFNEETE)
NI 545 EE
ZRENEAREE




|. The threshold problem with this argument is
that

2. Another problem that weakens the logic of this
argument is that___

3. Before | come to my conclusion, it is necessary
to point out the last flaw involved in this
argument that ____
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|. Even if A,

2. Admittedly, .

3. If so, even though __ ,

4. While this may be true Iin some cases, it is
equally possible that___ _.
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Conclusion Suggestion
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To sum up, this arguer fails to substantiate his
claim that__ C_, because the evidence cited in the
analysis does not lend strong support to what the
arguer maintains.



discussed above, It would have been! more

thorough and logically acceptable
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The End



